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1. Answer the following questions : | 1x10=10
Aeog ereferm Teg me

(a} What is flowchart?
Flowchart § ?

(b) What is a nested if statement?

Nested if R3fe 12

(c) If x =20 and y =10, then which of these will the expression
X>y&&(x*y)>y evaluate to?

M x=20 @R y=10 W/ I x>y&&EX*Y)>y
expressionftd IW =
(i) False '
i) 10

(iii) True

fiv) 1

4

(d) What is nested class?
Nested class §?

() What is destructor?
Destructor §} 2

(f) Which of these is called ﬁrst when an object of a derived
class is created?

Derived class 9%fog ob_]ect create TS @ (TG AT 2 ICA
AT F?

(i) Constructor of the base class
(ii) Constructor of the derived class

(g) What are the two searching techniques available?
TR 4919 searching technique §?

(h) What is MODEM?
MODEM 17
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fz; Define TOP.
TOP-99 7R (=cH |

jj FTP stands for

FiP ==

(i} format transfer protocol
(1} fle transmission protocol
fiii) file transfer protocol

(iv) iile technical protocol

2. Write the first and the last value of i. output by this loop. 2

5755 loop =FT T 261 i-9F AL € CIF T 76 AT |
n = 10;
1=0;
while (++i<n )
cout << i << endl;

3. Write 2 C-= program to print the multiplication table of a
number inputed by user. 2.
User-< input 35 797 <¥ 5% multiplication table print S99
&b C++ AN ECHT |

4. Give brief answer of the following : . 2x6=12
eeR eryefem ey Teq s -

(a) How constructor is different from destructor?
fFeId constructor, destructor (A& 4LF?

(b) Convert the following if-else to a single conditional
statement.

o1 if-else B conditional statement-q RS I |

if (qty>= 50)

‘order = max + 20;
else

order = max;

14C—1000/25A ' ( Turn Quer )



(4)

() What are the three visibility modes? What is the default
mode to the members of a class? -

o7 =R visibility, mode $ $i9 Class-99 member caq
default mode §12
(d) Given a stack as an array of 7 elements :
716 element %1 93 array BomEa @3 stack fes crem o -
STACK : K, P, S, __, _ ,
Can K be deleted before S? Why?
S-49 Wt K delete 3909 #if 2 @92
(e} What is the difference between LAN and MAN?
LAN 8 MAN-49 ¥e55 112 91 2

(/ How does inheritance influence the working of constructors
and destructors?

Inheritance Fem constructor 8 destructor-93 fagcs 4 ICIE

e 2
5. What is function? Write the difference between call-by-value
and call-by-reference. - 1+2=3

Function t? Cail—by—value € call-by-reference-99 W& ey
CIIC |
6. Find the syntax error(s) (if any) in the following code and correct
them : ‘ . 3
NE3 code fBzw 3% CT AT Bol AT, O CTasfel (37 901 5 e
Class ABC .
{ !
int x = 10;
float vy,
~ public :
- ABC() {y = 5
~4d 1
.}

void main()

{

ABC al, a2;
} 4

14C—1000/25A ( Continued)



(5)

7. What are arithmetic operators in' C++? Distinguish between
unary and binary arithmetic operators. Give examples. 3

C++-9 arithmetic operators §1? Unary ¢3k Binary arithmetic
operator-«d ¢4 N F 7 TR 1S ¢

8. What is network topology? Write two advantages and two
disadvantages of trcc topology. 3

Network topology Fi ? Tree topology I ‘Iﬁ ’iﬁiﬂ 8 E@ ‘ﬂ'{[ﬁm CeTCAT |

9., Write the steps to search 34 by using b1nary search in the
following array amount. [ 7 | : -3

Meq *@E amount [ 7 | {5t Binary Search-49 JW 34-(F &%
(@4 FAQ step @fF = ;

50|451{40|38|37|34|25
oli1|l2(3|4|5]|6

10. Answer the following questions :. 3x4=12
Teva zpyesferm Teg a1s

(a) What is inheritance? What are the various types of
inheritance in C++?

Inheritance 17 C++-9 ﬁ?‘a’ #9139 inheritance @1%{ I

(b) Name different layers of ISO OSI model.
ISO OSI model-93 RS layer @ w1 T |

(c) What is meant by stack? Given a stack as an array of
7 elements, when will overflow and underflow occur?

Stack WA 12 Array R 76 (@ 46t @I stack (TS HR |
Stack f6t® overflow 8 underflow 339 22 ?

(d) Define global class and local class with example.
TvZarTE, global class @ local class-9d & CCAT |
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11. Define a Class Book with the following specifications : 4

“ieon TfTefeR | 996 Class Book-9q @ Gl :

Private members—

Book No—integer type

Book_Title—20 characters

Price—float (price per copy)

Total_Cost( )—A function to calculate the total cost of N

) number of copies, where N is passed to
the function as argument
Public members—
- INPUT( }—Function to read Book_No, Book_Title, Price

PURCHASE( )—Function tc ask the user to input ‘the
number of copies to be purchased. It
invokes Total_Cost( ) and print the total
cost to be paid

12. Consider the following declarations and answer the questions
given below : 4

eea classfs Reasn w7 2rtafr oy 76 -

Class vehicle
{ private :
int wheels; .
protected: _
int passenger;
public :
void inputdata (int, int);
void outputdata ();
15
Class heavy_vehicle : protected vehicle
{ int diesel_petrol;
protected:
int load;
public:
void readdata (int, int);
void writedata( );
5

Class bus : private heavy_vehicle

{
. char make [20];
public : .
void fetchdata (char);
void displaydata( );
15
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fa) Name the base class and derived class of the class
heavy_vehicle.
heavy_vehicle classfo3 base class ¢ derived class-99 =
CHICAT |

(b) Name the data member(s) that can be accessed from
function displaydata().
displaydata( ) T="ib access FqC® Ml data member e N
CeTCHT |

(c) Name the data members that can be accessed by an object
| of bus class.
bus class-99 object-d access F9C@ Rl data member g
=< CETCHT |
(d) Is the member function outputdata() accessible to the
objects of heavy vehicle class?
heavy_vehicle class-43 object-d Wl outputdata() TR0
accessible T 1 7 4 .

&t

o
ﬁ

13. What is postfix expression? Convert the followmg expression in
postfix form : i 1+3=4

Postfix expression & ? eva ﬁﬂi b postﬁx W"T (.'f-‘INI
NOT A OR' NOT B" NOT ‘G

14. What is copy constructor’r" Write any four characteristics of
destructor. 1+4=5

Copy constructor § ? Destructor-as ¢ (F1Cl BEAMG CAMIEr el |

* % K
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